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Choose the appropriate figure from the{&nswer Figures to replace the question mark (?)
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Choose the appropriate figure from the Answer Figures to replace the quesfion mark (7).
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(A) forke (B) WIEHIBH - (C) FAHR (D) Hfar
PIANO is to MUSIC, then what is to LITERATURE ? ' Yim:
(A) CRICKET (B) MICROPHONE  (C) ARTIST. + '' (D) POETRY
. ’,/. o
4.  WEE AT |
At tifear : & - wifoRfee b
A4) T IR SR ©) siE (D) ¥
Complete the analogy : - < '
'Otitis media' : 'ear' :: 'Cataracts' gt Sz) g
(A) Bone . (B) Kidney g (C) Eye (D) Lungs
ik et 5D '
7TH49 A HI R, T O TR T 22 @)
7 is related to 49, in the same way 9 is related to :
A) 22 @ 81 © 77 " Yy ek
: 5 : A S ot b
6. a3y g # afE0H R fe Tk %aﬁtﬁ;tlso%mwaﬁtgé,zﬁmmﬁw‘ﬁmﬁﬁgweg
| B 2 7 v TR e S .
(\{ g (A) iq-f\g‘q / I (B)t ,3'?1}'(\ \ " ().‘ -‘) {(C) {aié:lul .. 0 I . A .\ (D) ll@
| | Which Way would you face now if you turned 180 degrees to the left after starting by facing south 9

Ny | b :
(A) West (R} Mot (O S} =5 T il s
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3
@ 30%
different products in a showroom.

20000
15000 | 13000
10000
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0
. it
O siffa e o) i
% 1 shifsme |
(A) ?.5% B) 28%
The given bar graph shows the marked price of five
20000
15000 15000 =
: 2&? g 6000 8000 000 10000
0 % %
3 S & s a
\?Q\o [/ & C&\ <F
& &
- R o4
[ . "‘ : G
) [ Marked Price (%) &

If the marked price of the laptop'i§ 15% more than
10% on the marked price of the lapjop, then find the

(A) 2.5% (B) 28%

ﬁmwmm@mﬁqhmmm%m,@ﬁm%l

15800

«

e T i =il =

(D) 3.5%

5
"

3'5* ‘

N

cost price and the shopkeeper offers a discount of
fit % of the laptop.

30%

vl

?

(D) 3.5%

o v T 5 B S o 3 o e B /125 km G AR

ST T HIT STEOT 3 ST 5 ko IC-IFEATH & | 3701 7 9 377 o & fobet RN A R 2

(A) <feorafim (B) Sut-ufi

(C) aforgd

() w

Arun wants to go to Anu’s home. Anu’s home is 5 km North-West of Priya’s home which is
/12,5 km East of Tharun’s home. Tharun’s home is 5 km North-West of Arun’s home. In which direction

is Arun’s home from Anu’s home ?
(A) South-West (B) North-West

(&) South-East

(D) North-East

frfoRaa w2 #, Y T T 3% 3 WY =R 3 e R E | ST & T W Y R g W1eE 3 e

9.
mmqﬁmmmlwmﬁmﬁm &
fiar T w75 : "INDEPENDENCE" © o
(A) NEEDED; (B) INDEED EENAD (D) DENIED
In the f-olic)‘“ring. question, you will find four other Wards provided alongside a given word. One of these
words cannot be formed using the letters of the given@ord. Identify that word. /
Given word : "INDEPENDENCE"
(A) NEEDED (B) INDEED (C) PEENAD (D) DENIED
T} S T Rk i - e~ o
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R e il S
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e T g e g 120
NG Y .

L & d 20% R

2. q"1:‘;‘"}"17a;W@:‘1"*‘&1"311‘-!?9\1I./

() i et sy f (B et 2 ST S
@ wa}ﬁwhaﬁrqg}ﬁq@zm‘ﬁg (D) et P 1 SFECT T &

Read the statements and select the pest coﬁ@?ion/conclusions that follows/follow the assumptions mag,
in the statements, St
Statements : @

1. InaT20 cricket match, the total runs mﬁe by a team were 120.

2. Out of these', 60 runs were made by spi@\srs. )
Conclusions ;- .

1. 20% of the team consists of spinners.
2. The middle order batsmen were spinners.

(A) Both the Conclusions follow | (B) Only Conclusion 2 follows
(C) Neither Conclusion 1 nor Conclusion 2 follows (D) Only Conclusion 1 follows
11. ﬁﬂ%f@aﬁﬁmwﬁﬂimﬁﬁﬁg%: ‘ e Gl
M%NF M, NFT @ 2| , * r Q/ e
M@N#F M, NRaead|_ g . % ? ‘
| MSNH M, NFfrard # P o i
ﬁm%ﬁaaﬁ%ﬁw-mm"s&wﬁm%"z@m%? ‘ : i1
@ Qss@e F@Q%s Q@  (© Qsr%s D) Q@S %P
Each of the following queStions pertains to the given information : A
M % N means M is the son of N.
M @ N means M is the sister of N.
M $ N means M is the father of N. . _
Which of the following represents the relatibnship "S is the father of Q" ?
(A) Q$S@P (B) P@Q%S o ©) Q$P%S D) Q@S %P
12,7 MG", AP, "RYINVLTHS NP G ETW%&WWWWW'{%‘I l
Find the word that can be formed using the legérs i ¢ "A",_"R", N T
(%) GRND (") TRAN (g (© GEAR . (D)'NIgHT.
13. mmﬁ@mm%ﬁmwﬁﬂ%ﬁ% ¢
@z‘m e g O @qg

Clouds are related to Rain in the same way as Air is related to :
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A ® Ve A
farer fifrar safts R 3 \ A3
(A) 8 3 - ® . \
Examine the provid L) 3 ' © 13 (D) 17 tD(; )3

provided diagram and respond to the following question. g <A
O —> Employed people - - ‘ (\’ [D

[] — Backward people " 2

g R
A > Educated peopley

How many educated individuals are considered b§dkward ? 3\

(a) 8 (B) 14 © 13 (D) 17°

T HEE 5, 7€ g e R 21 =it siieh s ved €, 26 e Fid T TEH & 3fiC 29 AR

a}sﬁaw%quﬁ% | 35 STETET, 14 S8 ST I ) AT TR 3 FHERTA TG 8, 15 =af
&t o7 &far T ST Wb & wrram-w a8, @saftr st ok Sy T ST SR 36 GHTER-I Tad €,
3T 8 AT T S <6 FHIS- g & | fohe At &A1 79T 3 HHTER-97 Ted & 2
In a survey, it was discovered that 21 individuals read English newspapers, 26 individuals read Hindi
newspapers, and 29 individuals read tegional language newspapers. Furthermore, 14 individuals read both  ~ /.
English and Hindi newspapers, 15 individuals read both Hindi and regional language newspapers,
12 individuals read both English and regional language newspapers, and 8 individuals read all three types .
of newspapers. How many people read only regional language newspapers ?

(A) 10 (B) 12 7 %) {4 (D) 8
16. U EEA IE@ HIHT |~ o
| Find the missing number. ' i

1371, 17,2, 21 « e

(A) 9 ‘ (B) 7 2 (@©) 11 D) 5 ?/(Z’
17. U @i g A

Find the missing pattern. ® \

C22D, ___, C6D4, C58D, C106D s

(A) ;3D 4 (B) C2C3D ® () ccp7 (D) C2C2D

18. aﬁazb=a-b,smm,p=6@%q#@ﬁﬂp!qﬂ?@iawz'?/
If alb=a—b, what is the value of plq if p=6 and q=4 ?
a) 2 . B 12 (©) 10 (D) 8

19. @ﬁfmaﬁﬁm&fﬁﬁmi'W@ﬁmmﬁﬁmmﬁm@m%l"w =
Ao srd 727 - - P
(A) mmﬂmmmﬁimqﬁm (B) . Frafir sremm Y oTed D W gER AT E ‘_
(©) syFafire agrs oft ot € HIOR Bl @ (D) rexfirer wenfw stfafia & \

A teacher tells her students, "Studying regularly leads to better academic performance." What is the

L

implied meaning of this statement B |
(A) Studying has no effect on academic performance (B) Regular study habits improve grades /)
(C) Irregular studying is equally effective (D) Academic performance is random R
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LY w = Cws A3
s 212
20, v o 3 40 et 17 1#mitﬂxsﬁtm=ﬁﬁlwﬁjﬁm?lwh‘7Wﬁmﬁ?“"*‘

) 51 SR 7 1 s & | gt g g o v P A2
* Befiex (B) G :%wfm (b

ition of some more milk
litres of & mixture containg milk and water in the rati6 of 17 3, {I"\i?cr L’;cn?l(tl)(li of milk added to it was
it, the ratio of milk to water in the resulting mixture b mes 7 1.7Theq

¢ D) 12 litres
(A) 8 litres ®) 6 litres (@ 4 s et
atiet | 1 9Tae 3
2, mﬁﬁ%ﬁzmﬁmqmmﬂfsocoﬁ | 4Pt A Gl
st e wfy Rty R 2 9 ﬂ% 8,0
ugg }} reduction of 20% in the price of ricc enables a cusmer urchase 125 kg more for T 8,000. What
the original price of rice per kg ?
8y glA) Xls HETIY ?’(C) Sl - (mo) m% drzd
z).fgmsﬁmaﬂmzo%mzaﬁsm 25%31‘1T3=iﬁm33'@'31m e Ry
OW'M The average of 9 numbers '(ﬁ 30, T%Qverage of the first 5 numbers is 25 and that of the la;
3numbérs is 35. What i number ?
(&) 30 4 (©) 50 ©) 2

qézs. A 3 B s R 1400 , B ofe C 3 s 3 € 1560 & oA A 3T C 1 i e

AT 1440 B | N C A MR T FIE? -

O The average monthly income of A and B is ¥ 1400, thafpf B and Cis% 1560 and of Aand C is T 1440, Th:
% monthly income of C is

qp (A) T1500 (B) %1400 ((g £ 1550
y24. 42aﬁt49aﬁm@mﬂwaw(LCM)aﬂwm(HCF@w3mm
q,é

The LCM and HCF of the numbers 42 and 49 are in th@atio of
(A) 7:2 (B) 42:1 @ 2:7. D) 5:
\XO 25. U (@IS THETH =1 & 9o 74, 240tﬂa§(ﬁMQJﬂ;ﬁﬂgﬁq“W%3m@mm
3/03 F 6 Yehve TR TR B | o erTe) ot e St weht =T 1 o | m{)
(A) 3007, 180 ferefi/eier gﬂ ®) 3007, 150 Freeier
,Lg (C) 200, 50 forfi/eter ﬁ;/ 360 T, 216 ferwi/eT
\ ‘% A train travelling at a uniform speed, clears a plaform 240 meters long in 10 seconds and passess
telegraph post in 6 seconds, Find the length of the train and its speed. 50 s &‘
( g % T I

% (A) 300 m, 180 km/hr 300 m, 150 km/hr
(C) 200 m, 50 km/hr 360 m, 216 km/hr
ﬁ 26. 90 fre ooz i arer ¥ T @ 35 et el et %@@tﬁﬁmmﬁmwm%.’
(A) 1.9%FE (B) 1.4%FE

5 ¥FE (D) 1.8¥F0
The time taken by a train 35 m long, running at 90

, iIn crossing an electric pole is
(A) 1.9 seconds (B) 1.4 seconds (G S seconds (D) 1.8 seconds

27, O o o i  sfted o T 52 o I feqg) i i Sfted do € 42 o | A i F
” N v 3 T 50 o, T wfier e & S R g e NN

ﬂ/ The average salary of male employees in a firm was 52 and that of female employees was T42. If th

S‘), nean salary of the employees was T 50, what was the percentage of female employees ?
W

20% (B) 88% ©) 30% (D) 86%

ﬁﬁmﬁs ~% ﬁw33%mﬂmm% A T4,200 Sifefe e et S @it At s feh 1
mw#qs?ﬂ%?

1 1 ;
. \ If the sales tax be reduced from 3 -2-% to3 5%, what difference does it make to a person who pu

rchasgs ¥
' ice 154,200 7 D /Q L
/6 /@ﬂ (©) 10 (D) %9 @Q@,,

| R T T e

Lt ) S 0y 2400
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29.

30.

3l

32.

33.

34.

35.

36.

-~

P, QMR I fehtar 2 . 3, 5 3 sy if iy {
; 51t g oI T WY 3 e & | 4 Y e, p ¥ oA B
g@éﬁﬁ,ﬁmqﬁmtﬁnﬁm%#w*ya’tmzs,zmﬁs@aéﬂﬁQﬂ

P, Q « or i i Saveats
’ Q and R. enter into a partnership by investing their capitals in the ratio of oM o % After
months, P increased his cgpital by 50%, but Q decreased his capital by 20%. What isstheihare of Q in
t‘l;e to;al profit of ¥ 28,210 at the end of a year ?
(A) 10,.140 (B) %10,075 5 (C) 83,200 (D) 97,500 S 29
-
?:HSWWWWWU:M%,WMW%? y 4D
e mtlozof cost price and selling price is 1§14, then the loss percent is /6 0 : ‘16
A) 163% (B), 40% g ©) 50% ) | 10,5 ® 6%—% L’fﬂ?"b
171, 10 5 P &8 L
36 o g T AT coM) ARy, ST E = B o
 Findthe LCM of 5, +, 22 5 e, L5, A
_ 3t6’ gnis; @ SR )
@ U 10, L& 10 13 [0
4 QD 4 3 Do LK
£37,500 9T 4 =T 3 foTT 29 wfer o ot o & WO Sr R R IR L ' 1§ '
Calculate the simple interest.qn ¥ 37,500 at the rate of 2% per annum for 4 years. 1 . 2 ’)50’9 ﬁ‘
(A) %3500 3000 (C) %4000 (D) T5000 [0°

A 72 5% 280 e ieft A 21 fort 3 g wert &, i fa v 200 et el g S S 7 18

w2 - ._
(A): d0wgH, | i(B) 48TSH & (C) 28WSH @ 60 TSH é 4_
If 72l boys can build a wall of 280 m leng@in 21 days, how many boys would take 18 days to build a
similar type of wall of length 200 m ?°
St 37

(A) 40 boys (B) 48 boys ® (C) 28 boys (D) 60 boys
F AT iR Ted T 4% T P2 3T @ GRS 15 [ ol GliE & 5 Farg 3R <
R e 28 S 15 Tl B T 3 R o e T 2 8 ST

359 =T TS FHHTAT & | A e IO 3 Sifradies 7 g & b Sfora AR e 1
icle free for buying everg} 15 articles ,?)

A tradesman gives a 4% discount on the marked price and gives an arti
and thus gains 35%. Find out by what percentage the marked price is above the cost price. L ﬁ
(A) 39.6% (B) 40.6% (C) 50% (D) 22% ) X é;g = Qﬁ?
2 &9 AW 1 Rt U W Tk T A 14 T o o whd € 4 wfgad ikt 2 7oy e 3 8 RAT A+ 90
ghd § | A Th =1 9t 2 7 600 firerar &, <t ueh witer @ v et fowamr fiverm =i 2 (
2 men and 1 woman together can complete a piece of work in 14 days. 4 women and 2 men together can
do it in 8 days. If a man gets ¥ 600 per day, fiow much should a woman get pergay ?
(A) T450 (B) 480 3 (© %360 @ 400 194
W%maﬂﬁ@ﬂa%m@aﬁﬁﬁﬂmmmﬁﬁ i 54 a¥ 60% =g AT | I ,éioy

ki 3, diga e L
7q & Syt i HEd 20% 1 fE Bl &, v € i< bl 8, 98 TG ST
Te & fera wfira At € 2 ; ! —-73

et for the purchase c@;mployees’ protection shoes increased by 60% this year over

A factory’s yearly budg
last year. If the price of
year is what percent greater

the shoes increased Y 20% this year, then the number of shoes it can purchase this é

than the number of shoes it purchased last year ?
(D) 140% : é b? '

7 1, % C) 48%
| (@)ubx | @ e O G 5
] e g B ) Page 7 0of 24 | % L}w*l 0))/3.4:_
‘ : x L

| \'w}l‘a 2
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7.

Rt BN LT ol Y
\1 f il
qasﬁmﬁqyaﬂmﬂmw#a3 78 af g o i 10 &€ T TR 8, e o 1 3 @I
31 g ot e T R AR 7
15 &iet B) 11 ) 13 (D) 10

; ter t tio
The ratio of milk and water in a mixture is 3 : 7. lf we ¢ 1dd 10 litres of water to the mixture, then the 12

becomes 1 ¢ 3. Find the initial quantity of milk, . i
(A) 15 litres (B) 11 litres % © 12 lies ¢ (D) Rees
2 STt &5k 8 et % oI % 1000 &
; /_—_'_'/

@Wmaﬁ@mmﬁmmﬁmﬁmw{éﬂ%ﬁmuﬁﬁmo £
e & | A el T e ot 9 &

The amount of money appreciates to T 700 after
intcrest compounded annually. The initial amountbf money was

@'cars and to % 1000 after 8 'years at a certain compound

) T4 (B) T410 @ (C)' 430 400 (Qfﬁmo 0,
. mf@aﬁaﬁwm)mm; 17 o [
Find the odd one from the following : Yd(
(A) 4096 (B) 4913 (C) 5832 D) 33 3380
' 40, ﬁﬂ%@ﬁg@w&maﬁmmm/ ’Lﬂ l

- - Find the next number in the following series :

41.

42.

220, 221,229, 256, ' B‘gi
@ 10751 ® 20 © 312 ;320 g’boo
Rere 1, 11, 1 30k IV 3 & i dor wfe g e g Xy o < U —

Choose the correct mirror image from alternativegd, II, Il and IV if the mlrror i kept at XY. é ?

@@‘@#@@:gv

x| ) > /%I g ger
Y
Z 0 2 o|© g Z 0 ‘);O
I I 111 | ‘
A) I ®) II ©) IV D) I
ﬁmqmwﬁswqﬂwmﬂm%ﬂé%éﬁw%mﬁ%lazwﬁsﬁgémm.ma%?.
(A) ST (B) i & © EIRES (D) s

Sindhu introduces a man as the son of the@rother of her mother. How is the man related to
Sindhu ? s 3 ; .
(A) Nephew (B) Grandson ® (C) Cousin (D) Son

ot (B) 4 T s= (D) 2R

43, 'méskm/hraﬁr%mam%mm%,eh19%£faﬁmmﬁ3&mwaﬁm

car travels at a constant speed of 65 km/hr, how long will it take to cover a distance of
195 km ?

-------------------------------~---------------—--p--------------—----_-. - - -
) - -
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44, Af “GREEN” 1 H&AT Fre 49 2, A “VIOLET” 37 “PINK” & T FIST & i T AR TR ?
i —— ¥ ] ~_____d-——-‘

If the number code for “GREEN” is 49, then the difference between the number codes of “VIOLET” and
“pINK” is : :
(A) 45 33 &.,) 60 (D) 55
aﬁwaﬁ,@maﬁaﬂ'{qw,m@@%lﬁﬁwwﬁﬁﬁmmmi@m,
@@ﬁmaﬂtéﬁml < |, & ‘{.1) -
méﬁmqﬁm%mﬁﬁﬁﬁﬂﬁmélwwﬁmqﬁmlmaﬂtmﬁ@mﬁ
mwﬁﬁléﬁwaﬂtmﬁ@mmm%@ — ===

e RFci e P @R EM e ? @ (T e
/é ﬂﬂ-g:ﬁﬁ,aj?-a'a@fﬁ, - N ©® QA'

) A g, S =i, T -3 \ A=y g‘\,‘/
3. A _ S, S e, W - el @ s A
4 AW, S — AR, - Al
I o & -8 A B R € 7 2
a) 133 /(@) 23R3 ©) 334 (D) 2304 \X,r
Three children, Sam, John and Ann, are eating icecream. Each child eats a different flavour from available ¥
flavours, namely Chocolate, Strawberry, Butterscotclf;nd Vanilla. g o \’ Y
Sam does not eat Vanilla. John does not eat Stra b’erry. Ann never eats Butterscotch. Chocolate and,,}' 6)¢ ¥
Butterscotch are not eaten together. Vanilla and Chodolate are eaten together. ‘ o , 74 ( ﬂi
Who eats what flavour from the available options ? © 8:,\77, = @ . J /
1. Sam — Strawberry, John — Butterscotch, Ann — Chocolate widle ¢ ﬁ' é < 3
2: Sam — Strawberry, John — Chocolate, Ann — Varilla N\ Qi
2 Sam — Butterscotch, John — Chocolate, Ann — S@!wberry A - Cgé Lo

. 4.  Sam- Chocolate, John — Vanilla, Ann — Straw@}ry 8 0\ /
{ Which of the above could be correct ? ql /
(A) land3 | . (B) 2and3 (C) 3and4 (D) 2and4 .
( T ¢ : ( I'. ‘-?;\ :’ o f
46, ST R s ST () WA L — i o et e A

g s ok o 3 At
Choose the figure in which the question figure (X) is embedded. aﬁ -0

Ay oy 3

X) @ & i 111 v th
s ; . ] )
@y o w4 @ I
47, FrefRifa s i ST ST T G - /
Find the next number in the following series :
1451 3\0’2;%22’6—"
(A) 20 (B) 10 © o (D) -10
T e e v IS TR G - A /T




\

48. g@meNR_ﬁ,mmﬁ-mm?/. g 1)

In the series FINR _ which letter comes next ?

®) S © U (
V v

49,  Treaferfiaa s ST T AT E 2 & iy :
. | - a | |
What comes next in the following sequence %) % [ | -

T ['U/ay

B,C,E,G, ®

'l | T A S /,\ K
ﬁﬂémﬁmmm| £ 2y g
md the next one in the given series. % Y
S S : ‘ J A ’ru)
Given series : \ )(% :
& L A
@ OQ 7
@
®
H
0 -0f-Q =0
,:- 5L ﬁﬁa@ﬁﬁﬁ@aﬁa@rmzﬁml @ g/%__&
{ 1 Fm the number of triangles in the given figure. § [ b A
. R
b G @ 256
il %8
: &
@i T @ g © 20 D) 12
52, it forama i P ot (o) £2 © L% 3

How many rﬁan;g}ggge there in the chessb%d ? 7




HBBRD
At feq e e & 3w st 1 AT o gy il

Find out the next figure in the abovc series from the options.

I I ' gIV ;
% :
@ \
5

(@A) I B) I © (D) 1

54, e Few T fet ot srem Aifsm._—

Study the figures given below :

olellel[alla

e fog o ot o & o R g S Ry e @ wmh we & f g

From the figures given below, choose the figure that will be most suitable to continue the pattern given

- above : A
<] ()
2/ lelle/lal g
) 1l T v
A) II (B) 1 (C) W (D) 1
55, WG¥d R g
T AR HEE
(A) FRTEFD)  (B) TS () ufer=h (D) &
Complete the analogy :
Fish : Gills :: Human : : ‘
(A) Liver (B) Lungs (C) Brain (D) Heart
56. fyferRad & & wreal % H-A SIS o7 e it v § 2
(A) TR — ST (B) Far—t=m ©) - TERTHT (D) FRY -
Which of the followfng pairs of words are " most similar in n&mng ? FT—
(A) Stop-Go (B) High—-Low © CQ — Smile (D) Start — Begin
§1. V& U Yigh I IGH ATUR (S) & THHIGL Th THAA T ST 8, AR 38 v (wd)
. %?gqﬁunﬁmm@mmmww% 7 b a
(A) e (B) wwEwE © B ' (D) ddgw

When a cone is sliced by a plane parallel to its base, but nqRpassing through ifs apex, what is the shape of
the resulting cross-section ?

(A) Hyperbola (B) Parabola (C) Circle (D) Ellipse
8. T FIFHFE TR~ —
(A Im (B) =t (C) T (D) FrmT



AN

59. AN I AT wea R
(A) &= (B) =g
60.  WTAT T T T, T 7 e v ¥
T T HAHT ST 3, T T AT T |

AR FaT SR 2 2

w I (B) 39mr

61. et <t wreTEaT Y aTer & v Tw I R

(A) HEd (B) WX

62. TorE aTeRT H 0T SHRE T IENT AT TR R 2
(A) g #T % fore @ wmn | W
(C) =il <ht wimifer & sfig et 2 |

63. IiHiEa” I1eq T et GRY-frede g . —
(A) <+

/}/ (C) W&l
¢ ®) s TRyl

B) =+ g

(©) T SR

)7 s . .. P T
{3
{}D)azmaﬁ

(D) ﬁwmﬁ%%

64. Tt arfeey srmrarft hy R H T AT T G fome & il R smar @ 2

(A) EFe

(©) %ﬁﬁ#ﬁmmaﬁ%%ﬂ
65. Y fFewHF ety

(A) WIEH (B) U=z
66. =T H FragaEE:

(A) wEIAT (B) swEd
67. el F e ad gEEv R

(A) Rr=gmT ® Resem
68. @I —Hla’ IIo3-FT 1 Wl frhe g :

(A) =IRE—7 (B) @HT—drAE
69. Al — Teft” ITeq-Tw 1 Tt T B :

(A) ST - (B) @t -+
70. T IS S 8 | H AH-GLIA 2

(A) FHa= RICCI ]
71. Trafifead @ s-aryss aam 78T & 2

Ay T (B &

() ia+ffda (D) ar=: + ffea
B) aﬁﬁ
(D) ITST E&hfer
© r D) dhvea
&
(C) THEN gp) &
3k ‘
(©) fargesmr gj) T e
®
© Ta-Fh (D) 377 —gfe
(C) T —gdt (D) i — wa
© T D) =
o %b
© 7@ 3‘6 {gp) ¥

72. Y@ifehd @ sl wfaenfid F F forg Sugw faee 1w hifsg |

HET STt T ST T AT
(A) %‘a@ﬁvﬁammwmsm%
(C) TEQ it Y ATEATAH HT 3T=ST IH &

73. Tafafead eamad: —
(A) oot =afth i que = firemr =nfe |
© %ﬁﬁim_ﬁﬁmﬁml

-------------------------------------------

bR S SR S AL

(B) Wﬁﬁw%mm% i

(D) W& S I ATy Ie

(B) mﬁwmﬁml P p
(D) Wmﬁﬁh%mml A11y?
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iﬁ? (4) TF " R © facest (Chad
,‘]7_,;}" AT FTYIAE G
,é (A) TR (B) W O wren (D) g8
L SR T s |
- @ femo (B) (C) Fern-fardteor (D) waTH
7, G FERH 3 A & |
C @ s @) wmE (C) ST (D) Frowrgr
g TR
ﬁ (A) ST (B) Af=sr Sz (C) 3=t ‘I""
fergr a1 HifeiT samgu | ®
@A) fogdt ®) FEm g (C) T (D) ®IRAR

aw o ®) (?) © ) L@ ()

31.;‘_;2'920%mawrtmmmaﬁﬁmw7
Ly TiaRags  (B) AemfrgE  (C) FOWEE (D) firama &y

g, = ore o 3 o e B 2

Sl shmaemtem 2 (@) sttt

i © amam;mn R ® (D) arr foram

., o e e e Su f T R 2

A sistl Y VB .eaf\-w g (o) f (D) H&Fd

) eafnkar e ) FwmERd: @ ¢

L (A) TEFTE (B) TW=Z Y&

- (C) S FAR (D) T ST fEaret

b ey et e g g e e 2

- () -3 @) 3 -RA ( L
.gg,l,‘mmﬁwqqﬁqﬁqﬁtaﬂaqﬁﬁmmﬁw%l "\A/

oo T — e :
() FEEEE (B) agaﬁ%wg (C) g EaE (D) EEEAE

N Amddea R ©
@®) g () GAF=ATT (D) Wl aui

(A) Her e &
B, o 3 o arest i R i & A O W 7 T 2,

(&) wf,” N A RO e (D) T
. Hmﬁwm%:

&) T (B) SREM (C) The™ (D) s



Y. 9. 907 94 TErler 9 5 P _
TS a1 a7ef it T T )T & | S o7 v ik 41 T hr - Ll
%mmmﬁ%‘lhm%mmwam%lmﬁ__m;m@mm&im%
ST Tea © | A 3 W AR ) ' .m?ﬂ—%‘utraﬁm%nﬁﬂ M & ¢
mmmam%ﬁ%@&ﬂa‘m‘glwﬁ@aﬁmw@ IR W@ﬁﬁﬁ,ﬁﬁ
Wﬁm%ﬂm%mﬁﬁﬁnﬁaél14%ﬂm,1949_§.a&m@iﬁaﬁ rnzz;r :
%l'#%mﬁmulzo%wgéﬁ‘ﬁmmﬁ%ﬁﬁmaﬁﬁﬁﬁ%mmélermzloasaq’??rﬁ At Wﬁz&aﬁt
mmm-mmﬁmmwﬁmmﬁm@m%umyﬁ%ﬁ
%ﬁmﬁ#ﬁlwm%mﬁwﬁmﬁﬁﬁmm%lmuﬁm

FR=t WTT ST ST 27 ) I R R AT R | ®
90. mu@ﬁz%mﬁﬁmwwmmw;ﬁﬂ??? e
(A) R=vmrw ) gawteh T W
(C) afEror it wreT 9T ) ety adft TSl 9
o1. Ty wTRelier stTaT ot Ry v s Y SATGT WA € 2
(A) Tt ©(B) TERmT ) &=
92.  TSTTNT ¥ W@ TV § & §7H § -1 TR AL ¢ 7
(A) THRISH HTNI &0 (B)'Hhésrﬁm%m
(C) ST shl STeHTeHe T Tihidh smn?_/ (D) Sxdfifadar?
93, TRt viTaT Y srcefer wifererr # fober o WIS WG © 2
(A) 1948 (B) 1949 e YE)- 1950 (D) 1947
04, TAomdTw Pffar ARl {3 )%/D/ L)
(A) WTIEATEH HTST ; ) ST &
(C) wreraTet i wTHT ' D) TSI ST
95. si@aTH ST HEAT 1 HIT ; 59, 9382@ 15
Find the next number in the series : V\_ﬁq’
STA% A0 05 v .. bl _‘l
Aa) 1 (B) 2 ' ©) 3 (D) 0
96. T A, B 3 C U MieiehR Sfeam F =R 3 dedr I P & 37 FH: 24 VHE, 36 Hehve N 30
Fave 1 U TR T § | T e 3 A 3 e faig v e | farei 2
A) sfre (B) 6fe (C) 8fime (D) 12fFme

Three friends A, B and C start running around a circular stadium and complete a single round in 24
seconds, 36 seconds and 30 seconds, respectively. é}fter how many minutes will they meet again at the

starting point ?
(A) 5 minutes (B) 6 minutes ) 8 minutes (D) 12 minutes

97. Qzﬁaﬂta@ﬁaﬁmmw%aﬁm%aﬁ_ﬂw%wﬁ%wwmm10%313%

7 gt 2 ' e

(A) 4099 344 79 @) 32393f3ead \Z\//Q

(C) 44ad a4 ad @) 36a¥3R40ad

What are the current ages of Antony and Betty if tii@)r ages are in the ratio 8 : 9 now and will be in the
B S e S

© sy ss Yo et IR

AUT-24 Page 14 of 24
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3=l 3 sft Fater i o fore; v ekt 26 it o s fovrn a8 7
A) YarsE - (B) S ©) ==
Which chart type is used to represent the Ef}lationship'bétween two variables ?
(B) Scatter Plof} (C) Bar Chart

98

(A) Line Chart

(D) Pie Chart

R ‘
5, Frerferiae e et g e et sl e PRk def o o it ah b 3
o s it e e B, 4
ot S r e © \\og, ”9;
4AH | 7AH | 32AH | 35AH | 55AH | ’%( A g %
1992 | 75 | 144 | 114 | 102 | 108 [543 f)b L° ¢
1993 | 90 | 126 | 102 | 84 | 126 |528 Gy b - (%
1994 | 96 | 114 |. 75 | 105 | 135, | 525 ) O 9 kL
| 1995 | 105 | 90 150 |' 90 |{¥5 | 510 J D
1996 | 90 | 75 | 135 | 75 [v®0 | 465 i3 %
1997 | 105 | 60 | 165 | 45 |20 |495 KOOQ
1998 | 115 | 85-| 160 | 100 |%t45-| 605 Cb
& A
ey e A et o T B 2 1% 6 U
(4) jaaH (B) 35AH = (©) S5AH, (D) 7AH \‘c:to
The following table gives the sales of batteries manuf:aclztured by a‘company over the years. ﬁ éq-

Number of different types of batteries sold by a company over the years

Types of Batteries .,
Year 2 -D
4AH | 7AH | 32AH | 35AH | 56AH | Total ]
1992 | 75 | 144 | 114 | 102 | 408 | 543 ‘ (0 b
1093 | 90 | 126 | 102 | 84 | $6 | 528 L b
i = —
1994 | 96 | 114 | 75 | 105 | @5 | 525 l 25
1995 | 105 | 90 | 150 | 90 | & | 510 Y5,
(=)
Tooe | 90 | 75 | 135 | 75| | 68 0 %
§ |1997| 105 | 60 | 165 | 45 120 | 495 \ v (
* [loos | 115 | 85 | 160 | 100 | 145 | 605 J q
Which battei-j has the lowest total sales across all seven years ?
(A 4AH (B) 35AH (C) 55AH (D) 7AH
%3{{;}'_5;““‘""""'"""""""""""'b’a};é’l?&fii """"""""""""""""""""""""

(numbers in thousands),
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. Rah ,
b 4. 05
o0, aft M+ Nl & M, NR T 8 . @
M- N#FTan & M, NFT R
MxNF &M, NRAARI -
a’rﬁﬂ%ﬁaﬂﬁﬁm-mﬂa‘umiaT%ﬁ?x 6 & oref X o fAT eI @ B
.'_m) YXZ+X Y ZXX+Y (ogl.sz—Y (D)
If M +Nmecans M is th sister of N. 4 2V
M = N means M is the brother of N. -{£ %
MXN-mcansMisthedaughtcrofN. © < gender is male ?
which of the following shows the relation that X is the ttiaternal uncle of Y Whel‘; ‘; XXS fz iy
(A) YXZ+X (B) ZXX+Y (CgXXZ—Y D)
I‘ '1 ,4 .* . . ?
P,QW‘TI?%,GETR@W%IS,TWW@%aﬂtT,Qﬁma%]g,Qﬁﬁmmﬂam(p) q;aﬁ
&) ® © . is S related
P is the brother of Q, who'is the sister of R. S is the brother of T and T is the mother of Q- How 1S
Q! ¥ (D) Niece
A) Nephew Uncle (C) Aunt
(A) Nep (B) Q) ZQ/

102.

103

104.

105.

106.

2 JUNE —> 10 - 21 - 14 - 5,/ JULY &1L {%l 2] '

If JUNE —> 10 - 21 - 14 - 5 hen JULY will be : g 0
(A) 10-8-23-25 0-21:-12-25 (cg14—12-$-10_ (D) 10-21-8-
' a0 w2 A g e R 1 <

;. el 3 “‘*

; TR ? H:
(A) IT-afEm (B) I (P aferor-afim ©) o
For a clock with oth hour hand pointing towards the ‘Fhst, the hour hand at 1:30 points towards -which
direction ? Al £
(A) North-West (B) NH'm-Eagﬂ/\ (O South-West (D) South-East
7 rar Fr SHat, HTEER I AT m}\q%%mﬁﬁ%aﬁmm%,a’mﬁaﬂﬁwmaﬁ%am
ST - 9 o .
() T (B) 3 () o (D) @
If Sunday is coded as January, Tuesday as March, Thurgtsﬂay as May, then Saturday will be coded as :
(A) August (B) April (Ch July (D) June

rer T e T & T SR & SR e ST Hen e & e @ 2

| : .
(a) fef (57E) (B) AT (O ares (D) WRRE
"Clock" is related to "Time" in the same way as "Map"'j related to which of the following ?
(A) Location (B) Travel (C(R Vehicle (D) Cartography
ooy & e & i A & e & ik Rl e g e & e e '
(A) FRATE (B) e @ T iale”
(© =@ s . (D) foregper wifor foramn <fam

If Mani is taller than Tony but shorter than Deepak and Tony is j .
bl p ny is just as tall as Mohan but taller than Gokul
Eé; zl;lorter t:an Tony (B) Taller than Deei)ak B‘ )

orter than Mani (D) Just as tall as Mani T" 'Q

oS /@' Page 16 of 24 ?_ --------------
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107. FrefRed & & s v w@ Ak "
Find the dissimilar nilrbcr from the following :

16, 256, 64 024
(A) 1024 (B) 256 (C) 64 (D) 624

108. F=fcRea § @ v der yw Hiftn o

Find the dissimilar number from the following : {}

1331, 2197, 4913, 5832, 6859_- by
(A) 1331 (B) 2197 €(C) 6859 % (D) 5832
109. m‘ﬁmﬁmloomm%ﬁmaﬁg«%fmaﬁaﬁﬁﬁ
(A) T (B) 3T €c) == T (D) UTEHTIRg
The renowned mathematician known for discovering the sum of the first 160 natural numbers is
(A) Gauss (B) Euclid (C) Newton (D) Pythagoras
v @ 90 Zg’
110. FEAREa R 545 x 545 - 125 x 125 F7 TSGR FE? — L 567«(
Which of the following is the output of 545 X 545 — 125 X 125 ? l/q,@/
(A) 285400 281400 (C) 287500 D) 2865007~ J [/
.’v -
111. A,B,C3DFaFAwaa®@E| A, C 3B, DFarc ¥ | D, C 3ot i & Rreehr fe @ A1 ST 1A -
D&Ide fFmaicg? - R '}t}‘
(A) =fior (B) W o) O
A, B, C and D are playing a game of Carrom. A;}Q and B, D are partners. D is to the left of C who is
*"facing east. Then D is facing : )
(A) South (B) North ERC) West (D) East | {. \

() .
@ﬁnﬁiﬁﬂq@mﬁ %@qaﬂtm%ﬂ%ﬁ%%qwaﬁrmaﬁﬁm >u 8>#*9(aﬂ'l 9
CSI%E721!@I*#@AT* #>8U=> 30& q/(
AR ST 3T AT M Sefe T S 8, @ et densil 3 e gt 2 — %
A ® 1 %

A) O B) 2 © 3 ( ' (’)

Observe the following series carefully and answer the queéstion that follows. S @) ‘
C$1%E721'@I*#@A7* #>8U>

How many numbers are followed by an alphabet if {He second half of the series is reversed ?

A) 0 ®) 2 {0 3 (D) 1
113, mzoléﬁmmﬁm%mﬁqﬁﬁ)ﬁ ﬁq%g@ o

India’s Gross Domestic Product (GDP) grew by __ .y, in the quarter ending September

(A) 8.0% (B) 8.5% L) 9.0% (D) 7.3%

gt fopa Ta | 3 © ' £

114, g oy s ot o T e A # g § :

?f) 4 Tz 25 AFS @aa) 6 fime 15 Qv

(C) 8 fire20&FTs (D) 2 fime 30 dwve

The light from the Sun reaches the Earth in about how much time ?

(B) 6 minutes 15 seconds
(D) 2 minutes 30 seconds

(A) 4 minutes 25 seconds
(C) 8 minutes 20 seconds




(
!15: ‘*““"“mmﬁmwnwaﬂwm%lwmm%m%q@mmﬂa%?
o) TS fmen (B) TSI
N(©) st (D) deh T AT

The Indian Constitution provides for a parliamentary system of government. This: aystecaie besed o1
model of which country ?

~) fA) United Kingdom dB) Canada
< (© |, Avstralia dD) United States of America
116. MPC &1 {0f &g 2 O '
/Y. &) T 9t iR i . @p A e HREA
. (C) AN uw i H gp) At aiferdt st
~ The full form of MPC is R ®
(A) Money Policy Committee @B) Making Price Committee
(C) Monetary Price Committee (D) Monetary Policy Committee
~117. 377 e Teeh fomed eifera @ 7
C o (A), TR F R (B) W I
) tﬁ) RN Ea F fram (D) H&pd TR
e book Vinaya Pitaka is related to : 3
(A) Thoughts of Zoroaster {:{B) Preachings of Mahavira
(C) Rules of the Buddhist Sangha $1D) Sanskrit Grammar
: 118. GDP e 5 TURT Sk ST 0 36 R - ATl Te e e 2
; INRRESEEISR] g}g) i gifteh FEter (NSO)
| (C) v wfyf o fafrar <€ (SEBI) &P) st fsrd & (RBI)
) / Which Ihdian organization is responsible for calculg@jng and releasing the GDP data ?
g (A) Ministry gf Finance ® (B National Statistical Office (NSO)
(C) |Securities ‘and Exchange Board of India (SEBI) (D) Reserve Bz.nl;of India (RBI)
119. m&wmﬁ%ﬂmmm@qﬁuﬁ?%@ﬁ%mm ? |
{ ({x') REtdeem (B) wEHIEE U (c) wERIEEER (D) ATfeHR TR
", ' Which Russian author is famous for writing the psychological novel “Crime and Punishment” ?
(A) Leo Tolstoy (B) Anton Chekhov (C) Fyodor Dostoevsky (D) Vladimir Nabokov
120. E TR FE ? g
(A) FEEg (B) W& HC) s (D) TrmfE™
What is the capital of Laos ? ®) :
3 (A) Kathmandu (B) Muscat 44C) Lima (D) Vientiane

121. m-mw@ﬁmwwmmﬂ%%ﬁﬁm%?
(A) 'farg = €@1eT (WTO) ) T qETHIN (IMF)

(.7! - (C) .;q‘a_ﬁ_@ﬁ}q'a:ﬁ?ﬁ(BIS) (D) faad=w
Which organizatio‘n is responsible for smooth and predictable trading across the nations ?
(A) World Trade Organization (WTO) (B) International Monetary Fund (IMF)
----- (C) Bank for International Settlements (BIS) (D) World Bank
0 A i s s 5 T R N S S LR ¥ ' T4
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ST 3 g B W SfeEd R 2 -/

What is the GST rate on mobile phones in India ?

122.

(A) 5% B) 12% ©) 18% V(D) 0% (
23, St afeg & o e € 2 Iyt
How many members are thgre in GST Council ne
A) 30 /‘ 33 £ (© 40 D) 2
24, TR T Teell ST HRTE 2 g :
(A) T AT I T FHEAT @ @B) WIS iy
(C) EHET Y T BT g (D) Y wwer s
What is the first step of research ? iy
(A) Selecting a problem | (B) Finding a problem
(C) Identifying a problem | (D) Searching a problem
125. 1 8aﬁ@rmm%wﬁs%wm_____m%%|

(A) T ARFHR B) Frw iR (C) FT AT (D) AHE ARFR
All human rights of a person below the age of lg'ears are known as . S

(A) Child Rights (B) Special Rights (C) Legal Rights (D) Human Rights
126. & =T Fa gE A TR At 2 ® |

(A) ¥T= 2004 (B) sWei2004 & (O ALt 2006 (D) AT 2002

When was Micro Irrigation launched ? %

(A) March 2004 (B) January2004 @ (C) January 2006 (D) March 2002
127. Grrer T o A T A 2 |

(A) =TS B) e © dMwuEE . (D) FEAFAW

What does the acronym ‘TBT’ stand for on social media ? .
(A) True Blue Tuesday (B) Today’s Best Thing (C) Throwback Thursday (D) Text Back Time

128. CRISPR-Cas9 sﬁaﬁﬁﬁwmw%%qmgm%
(A) ST EaTEA (B) qémﬁ:ﬁmq%m

(C) ¥ T Tl ST {} (D) AT

The CRISPR-Cas9 technology is used for : ® ‘

"(A) Editing genes # (B) Synthesizing new materials

(C) Detecting earthquakes g (D) Creating vaccines

129, Tefiy weY feew 2024° 1 v fimy®2? @

(A) wifirer o AR H; FATTR . (B) waa fuftr
(©) e fufir 3 fore ¢ sivenirferatt (D) Tfter & e et

What is the theme of ‘National Maritime Day 2024 ? T )
(A) Navigating the Future : Safety First (B) Sustainable Shipping Ny .
(C) New technologies for greener shipping . (D) Amrit Kaal in shipping



130. ?W@mmwg@ww%? A
(A) = w0y 3 frg
B) T (Remo ﬁmmﬁmﬁwwaﬁﬁ%m
@ Sifevr S gy 3 fora £
TR S st et 35 g ®
What i is the main goal of a pre-trial conference g {
(A) To conduct jury selection
(B) To prepare for trial and discuss settlemenfgyptions
(C) To render a final verdict
(D) To dismiss the case

131. Wﬁ%méﬁsﬁwﬁmﬁmaﬂaﬁ%mﬂ%wﬁmﬁm SafieT A, T

0 A1 et oy wopm & AR T wr R |

(A) TrrsifsT (B) UeaH AN (C) ¥fezwE uramst (D) AT AT

is the act of intimidating, harassmght, defaming, or any other form of mental

through the use of electronic means or modes su¢h as social media.

degradation

(A) Cryptojacking (B) Identity theft @ (C) Credit card fraud (D) Cyberbullying
132. Wﬁ%ﬁ%@ﬁmﬁﬁm@mmmﬁw’ﬁm%?

(A) TE I AN I et F i AR FIGRATR | 0T
(B) ¥ AN, Seqreehal T e forenra ot A war & | '
(C) == Aften snfdfer it it Feifa sweaT # |

D) & oft aFe At H foefia sars |

What is the role of artificial intelligence (AI) in shaping future global economies ?
(A) It widens the gap between skilled and unskilled workers.

1|
(B) It drives innovation, productivity and ecoagrmc growth. i

(C) Itregulates global economic slowdown. & Y

(D) Itreplaces all human jobs. &b
133. mﬁ‘mnﬁﬁ%ﬁqwﬁmwma@mm :
= (A) @ (B) STt @ - (C) IR (D) =qweT
The first successful instance of Satyagraha led 5¥ Mahatma Gandhi in India was :
(A) Kheda (B) Bardoli : (C) Ahmedabad (D) Champaran
134. N BIST ieA foheeh Stare # [ foRar o 2
(a) frmfimm (B) af%wmaramm
(C) Tl (D) TRTFHTE
The Quit India Movement was launched in response to :
(A) The Cripps Mission (B) The Jallianwala Bagh massacre
(C) The Rowlatt Act : (D) The Simon Commission
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135 m%zﬁmmﬁ“‘quvmﬁ%msﬂtmuaﬁ%ﬁ,mmmﬁﬁ T =

Lh%‘

B (B) wda3 (©) g=dT4 e
ich Article of the Indian Constitution provides for the formation of new states and RISt pharcas;
boundaries or names of existing states ?

(A) Article 2 (B) Article 3 (C) Article 4 (D) Article 1

136. T 1 Hure Wit F aren & R am R wh § ol fidi Aoy dFmASAE |
Rabi crops are sown in winter from Oc{c;)(ber to December and harvested in summer from April to
(4) June (B) May 4@&1 (©) July (D) August

137. TR g T Ry, O
(A) Hrar gee it P s ©)
® Pewaema Rt O
(©)  Taare-fatiet it srrewor-Rvet s s
D) Wmmﬁwmm
What is the purpose of the National Security Guard in India ?

(A) To oversee border security .

(B) To regulate the financial market

(C) To conduct counter-terrorism and anti-hijacking operations
(D) To manage disaster relief operations {} .

138. FreieTiem & & 7w vared mer e & srvefmat & forg R d 2 '
(A) HEHSEAFES (B) WO ) (C) TE2reH (D) e HHIEES
VXhlchSof the fo!lov.vmg substances is primaggly responsible for acid rain ? i
(A) Sulphur dioxide (B) Methane (g (C) Nitrogen gas (D) Carbon monoxide

139, IF-HT 37 T It b1 T T T STeT IeEh & ? ;

(A) ST (B) W G) (C) =feqor TRt (D) ¥
Which country is the world’s largest producer of wind power ?
(A) Germany (B) Bhutan (C) South Africa (D) China

140, TR 3 JYEAF I & (S 2024 TF) ? : 2 i -
A) = Y. gife SRt (B) aﬁqqaaw[qrqg\ : - (
(©) ft o= wum (D) i S Es
Who is the Vice President of India (as of June 2024) ? g
A) Sh. M. Hamid Ansari W (B) Shri M. Venkaiah Naidu
A I
(C) Shri Dharmendra Pradhan ‘}i‘ (D) Shri Jagdeep Dhankhar

141, 2016 ¥ TeaTeia STRE-SITIT TR THTI] THEI 1 Ievd F18 ?

(A) TREHTU ISt ok ST O S ,%3 '

(B) TRHTUL-Hh & T TG &

€ weERERHEETEEEE o l

(D) 5P e, AR e s

What is the purpose of the Indo-Japan civil iuclear agreement signed in 20162

(A) Ban on nuclear energy usage F

(B) Establishment of a nuclear-free zone

C) Joint development of nuclear weapons

%D% Cooperationpin civilian nuclear energy, technology transfer and safety standards
AR T N X Page2iof2d & LT mmee




142, T30 81 3 fe e e iy 6y arrarome Ay @A : S
1(\14\) g (B) ST © Frm= ®)
ovement of le i f is called : iorati
(i m}::op e in argg ;)ut 1;“?1“;:::8 is calle (©) Growth rate (D) Migration
143.  FeiiTe qRem fraferem (AMU) Y s e ad s off 2
In which year was Aligarh Muslim University (AMU) set up ?
fag s e EB) uSIISlT;S Gk (©) 1901 o lgz:rﬁﬂ% ?
144. mmmﬁq.mmﬁamqﬁﬁmﬁma&gwm "“a?%'qa:‘;ﬁ
(A) ST (B) SATHIST (€) I3 : (D) in Hindi and Sanskrit
Which city in Uttar Pradesh is known for its educationgl, institutions specializing
languages ? ®
Lucknow
(A) Varanasi (B) Prayagraj (C) dkKanpur @) t anft ’
145. ﬁ-wmmwmmmmm%qmm%ﬂﬁaw%ﬁ e
TSIt T STH g7 o 2 ® AL
(&) SHEanadt  (B) e Rl i) T o d.the Nobel Prize in
Which Indian economist is known for his work on welfare economics and receive
Economic Sciences in 1998 ? . Y
(A) Jagdish Bhagwati (B) Manmohan Singh - (C) Raghuram Rajan (D) Amartya e
146. ST e TRty S "
A) uhrhse ®) R ©) A 5= (D) WEIE 5
Which author wrote “Jane Eyre” ? ) ite
(A) Emily Bronte (B) George Eliot (C) {Anne Bronte (D) Charlotte Bronte
147. FaETH R TR SR AT R | 4@3
4) = B) = (©) @t (D) THTIH
Twitter is a ' based communication platform. ® '
(A) Email (B) Chat ©) @1p " (D) SMS
148. s forqere <X fore Su7 3 QT ATEm AT € ?
A) == RUEZSC A (C) SR (D) AureA
India shares the Lipulekh Pass with which country ? '
(A) China (B) Pakistan (C)- Bangladesh (D) Nepal
149, EfRqor hifeE & Fi-eft TET T 9T FRAT ST R 2 o
(A) o ®) fife (©) FoTH ©) ¥
Which currency is in use in South Korea ? O
(A) Won ~ (B) Ringgit (C) @uan (D) Yen
150. W%W%W#WMmmgc@mﬁmﬁmm
(A) ®EIR (B) HIETRR (©) @R D) i
attack is where a computer system or networkGs infected wi
th a computer vi
(A) Hardware (B) Mal Ly puter virus.
---------------- Walg © PhlShmg (D) Software
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